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1- One of the following is not a modifiable risk factor
Answer: male

2- One is correct regarding to this picture ?

Answer: disease associated with heavy myosin’s B chain /hypertrophy
cardiomyopathy

3-this picture represent which disease?

Answer: acute rheumatic heart fever
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4- This picture indicate ?
Answer: myxoma

5- What period does this picture indicate ?

Answer: Within 2-8 weeks

6- Which of the following is incorrect regarding this picture ?

Answer: it happened to women older than 50 years old
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7- The histological picture indicate a disease which is ?

Answer : Granulomatosis With Polyangiitis

The histological picture indicate a disease which is ?

Answer: LEUKOCYTOCLASTIC vasculitis

9- Which of the following is incorrect regarding this picture ?
Answer' prollferatlon of smooth muscles
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10 — which type of aortic dissection ?
Answer: deBakey type 2
type Il

11-the arrow represent :

Answer: the cephalic vein
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12- the arrow represent:
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13- QT interval :

Answer: electrical ventrecular systole

14- PR interval :

Answer: shorten by AV nodal rythem

15- the arrow represent:

Answer: right coronary artery
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16- this arrow represent :

Answer: subscapular artery
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17- this arrow represents :
Answer: median nerve
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18- this arrow represent:

Answer radial artery

Brachial artery

| Brachioradialis

alis
Flexor carpi
the ym
radialis
en
xor
by

Radial artery

cia

&

19- this arrow represent : == - o
Answer: peroneal artery }
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20- this arrow represent :

Answer : medial planter
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21- which of the following is wrong regarding this picture?

Answer: Gap junctions to prevent the cells from pulling apart
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22- the arrow represent :

Answer: arteriole

23-what type of blood vessels is in the picture :

Answer: radial artery
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24- the lead 1 located :

Answer: between the left arm and the right arm.

25- V6 located :

Answer: in the 5th intercostal space at the mid-axillary line

26-a patient suffer from atherosclerosis what are the possible changes to the
pulse, diastolic and systolic pressures?

Answer : increase pulse and systolic pressures and decrease in diastolic
pressure
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